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Question #103 Section 1

Which vSphere Update Manager baseline type is used for scanning and remediating objects third-many device drivers?

A. extension
B. predefined
C. patch
D. upgrade

Answer: A 

Question #104 Section 1

An ESXi host with default settings is currently in normal lockdown mode.
Which action is granted with Administrator privileges on the host without adding them to the Exception User list?

A. Access the host using the Host Client.
B. Access the host using the ESXi Shell.
C. Access the host using the vCenter Server.
D. Access the host using an SSH session.

Answer: C 

Question #105 Section 1

Which two actions should an administrator take to ensure a VM has the highest networking bandwidth?

A. Configure traffic shaping.
B. Configure LACP.
C. Configure shares, reservations, and limits.
D. Configure resource pools.
E. Configure marking and filtering.

Answer: BD 

Question #106 Section 1

A vSphere Administrator wants to group virtual machines by guest operating system type in vCenter Server.
Which feature would accomplish this?

A. Custom Attributes
B. vSphere Tags
C. Enhanced Linked Mode
D. vRFC

Answer: B 

Question #107 Section 1

An application requires a high network transmission rate and multiple simultaneous TCP streams.
What is the maximum number of threads that can be created per vNIC?

A. 4
B. 6
C. 8



D. 10

Answer: D 

Question #108 Section 1

What provides certificate and license management services?

A. Unified Access Gateway
B. Auto Deploy
C. Platform Services Controller
D. vCenter Service

Answer: C 

Question #109 Section 1

An administrator enables DRS and sets the automation level to Fully Automated. DRS is only making initial placement recommendations.
What is causing this?

A. DRS is set to aggressive.
B. HA is disabled on the cluster.
C. vMotion network is misconfigured.
D. The VMs have virtual flash reservations.

Answer: C 

Question #110 Section 1

Which two requirements are needed to inflate the disk? (Choose two.)

A. Right click .vmdk and select Inflate.
B. Right click .vmx and select Inflate.
C. Power off the VM.
D. Edit the .vmdk file.
E. Reboot the VM.

Answer: AC 

Question #111 Section 1

Which setting should be used to exclude one hard disk from VM snapshots?

A. Thin Provision disk type
B. Independent disk mode
C. Dependent disk mode
D. Passthrough device mode

Answer: B 

Question #112 Section 1

Which command should be used to monitor free disk space on a vCenter Server Appliance?

A. vimptop
B. cloudvm-ram-size
C. df
D. esxtop

Answer: C 
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